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QuesT #3a Actual

Questions for this QuesT will be formatted into three columns:Questions in column 2 are a tier up from column 1.
Answering these correctly will result in an 80% for this question.
Questions in column 3 show mastery of the topic.
Answering these correctly will result in a 100% for this question.
Questions in column 1 are the basic, essential skills.

You must answer these to pass.

Answering these questions correctly will result in a 60% for this question.











Please ask if you have any questions!

3 m
91m2 (shaded area)
12m (side length, large box)
3m (side 
length , 
small box)
Area = 36 cm2


1c) *From no calculator sheet




2c) *From no calculator sheet





3c) Find the shaded area
















4c)                        2310










5c)  -  =





6c) A pizza was cut into 8 equal size pieces. William ate three pieces. Then we realized it would have to be cut more. Each piece was cut into 2 more pieces. Dakoda ate 5 of the smaller pieces. How much pizza is left?





7c) Justin was riding his bike. He had gone 1 km after  hour. How far would he have gone after 45 minutes?








8c) Bryce has 8 bags of candy. If he gives  of a bag of candy to each one, how many friends can he give candy to? Show your work.



9c) Briley ran 5 minutes 12 seconds. Convert how long he ran into decimal.





Convert decimal to a fraction reduce if necessary
10c) 0.020



Convert fraction to a percent
11c) 




Convert percent to fraction and reduce
12c) 32%



13c) You order $120 of food at a restaurant. There is a 20% discount. You want to tip 19%. Tax is 5%. What is the total cost of your meal?








14c) If a person weighs 70kg on earth, how much more do they weigh on Saturn with 108% of earth’s gravity.






15c) [bookmark: _GoBack]John has 80 total marbles. 50 are blue, the rest are red. Sam has 16 marbles with the same ratio of red to blue. How many red marbles does Sam have?






1b) 33 =




2b) *From no calculator sheet





3b) Find the side length of the large box
















4b)                         154










5b)  -  =





6b) 5 -  =









7b)  x  =










8b) 2   =






Convert to decimal
9b) 3








Convert decimal to a fraction

10b) 0.93



Convert decimal to a percent
11b) 4.357




Convert percent to fraction and reduce
12b) 75%



13b) A pair of pants normally costs $40. It is marked 30% off. There is also tax of 12%. What is the total cost of the pair of pants?








14b) A worker’s salary increased 120% each year for two years. If the worker originally made $40,000/year, what is the new salary?



15b) If I want to split my budget between clothes and entertainment to 3 parts clothes and 4 parts entertainment. If I have $511. How much does each part get?


Find standard value (as in just a number. SHOW WORK)
1a) 42 =



(No calculator)
2a) *From no calculator sheet





3a) How long is each side?















Find the prime factors
4a)                          25










5a)  +  =





6a) 3 +  =









7a)  x  =










8a)    =






Convert from fraction to decimal
9a)  =








Convert decimal to a fraction

10a) 0.7



Convert decimal to a percent
11a) .25




Convert percent to fraction
12a) 5%



13a) A shirt normally costs $30. It is on sale for 20% off. What is the new cost?










14a) A jet was flying 600km/hr. He increased speed to 110%. How fast was he going afterwards?





Write the ratio:
15a) 5 apples to 4 oranges





















